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P(E,/‘E,) = P(E,  n EJ
W,)

P(w  = (IO,  O),  w = (IO,  I))
(P(w = (IO, O),w = (IO,  I), . ..w = (10,99))
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P(E,/E,) = p(E,  n kz)
W,)

rz P(\s  = (IO, ), vv = (10, I))
P(u = (10, O),  w = (10, I) ,...,  w = (10, 99))

~ P(E,)P(E,)--__A
W,)

= P(b)
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P(X = k) = P,(k) =
II!

k!(n ~ k)!
Pk(  1 - Pyk

i P,(k) = I
k=O

P(X = k) = ,!(,6);  k)! (1mk(1/2)10-k

P ( X  = kb
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P(X  = k)

0 1 2 3 4 k .
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P(X = k) = P,(k) = p(1  -P)~-’

s b

F,(b)  = P(X(w)  4 b)  = f,Wdym

dFx(y) = 4
dY s‘dy  mm

fdt)  dt  = f,(y)
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b

F,(b)  = f,(y) dy-m

0

5

h
I-e‘"dy  = I-eeh

00
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F,(b)
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r(a) = (b- I)! .= (a- 1)(a-2) . . . . . . . ...3.2.1

S’ 1
P(T  < t) = -4’

” I-(n)O” “-‘e‘  OdY
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E(X) = i k II!--.
k!(n - k)!

pk(  I ~ py
k = O

E(X)  = fkkg
k = 0

E ( X )  = y f,(y)dy c
m 1

= , o y ce ’ “dy

2 2
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m
ElCXI  = s

cc
em Cyf,(y)dy  = c 5 yf,(y)dv  = CE(X)

-cc
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a, : 67-l 15

a* : ET.3 2 0

a , : i?9 25

anla~s%su%l~

Oz  : A = 2 4

8.265 x IOh

6.178 x IO” 7.270 x 10’

6.514 x lo6 7.002 x IO’

1

(250,000) (20) + (500,000) (D- 20) w”lH?¶i D > 20
Z ( D )  =

( 2 5 0 , 0 0 0 )  ( 2 0 )  ilM<IJ  D  < 20

E(Z) = f Z(k)P,(k)  = ; Z(k)P,(k)+  z Z(k)P,(k)
k = O k = O h = 21

2 6 OR 203



5,OOO,OOOP,,(k)  + : /5,000,000+ 500,000 k ~ 10,000,000/P,,(k)
k=ll k s 21

= 5,000,OOO P(D < 20)~5,OOO,OOOP(D>  20)+500,000  f k P,,(k)
k 21

= -5,OOO,OOO+  lO,OOO,OOOP(D  < 20)+500,000  5 k(2;;e-"
L _ 21

t'(D C 20) = 0.471

= 2, E _(21)‘k-Ue-Zl

k = 21
(k -~ I)!

= 2, f (21;;  e-*1
j = 20

= 21(1-0.3X4)  = 12.936
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P(H  = 21) = P,(21)  = ;

P(H  = 24) = P,J24)  = ;
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uinn-di 2 3  ohaTh

a2 = d,(x) ilw% X  < 2 3

a3 = d,(x) ilM?¶.O X  >  2 3
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IR(d,,  2 1 )  =  Ejr(d,,  21)1

= (O)P(X < 23)+(.336x lO’)P(X  > 23) = 0.0954x 10’

lK(d,,  2 4 )  =  E/r(d,,  24)1

= c.268  x 106)P(X < 23) + (O)P(X > 23) = 0.127 x lo6
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Qx/B  = k(j) = P(X = j/S = k)

Qx/H = 24(j) = P(X = j/S = 24) = j!

61”1MlndlniaaaPnaa89~a~~~~  (0,  x) aGm%bah

PBx(k,  j )  = Qx/B  = k(j)PB(k)

LL~~fVl~lTEl%~+tlpaabla Qx(j)  fll5LbPnLb89LLIJE1  m a r g i n a l  llo9  X  QilUana!6

Ox(j)  = c PHx(kj)  = c Qx/H = k(j)PO(k)
all k all k
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ho/X  = x(k) = Qx/0  = k(j)PB(k)

Qx(j)

he/x  = 30(21)  = Ws~x~o~8(21)

hQ/x = 30(24)  = <)x/B = 24(3O)P0(24)

Qx(30)

Qx/t? = 21(30)  = 0.013
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Qx/B = 24(30)  = 0.036

h.h

Qx(30) = Qx/B = 21(3O)Pe(21)+Qx/e  = 24(30)  Pe(24)

= 0(.013)(2/3)+(0.036)(1/3) = 0.02067

he/x = 30(21)  = (0.013)(2/3)  = o.420
0.02067

he/x = 30(24)  = WW(1/3)  = o,580
0.02067

he/X = x(k) = fx/0 = k(x)PB(k)
f,(x)
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fx(x) = c f,/@(k)‘“’ PO’“’
all k

hfI/X = x(y) = f,/O  = y(x) PO(y)

f,(x)

m

fx(x) = f,/B y”’  P&y) dy
-co

6lMlTl%  B  L%-&LLLlPI~0L~0SLLA:  X L&.U¶JIJ’b~dQL~04  posterior distr ibution h8/X  = x(y)

RlWWl%&ltJ

ho/X .= x(Y) = _Vx/@ = Yci) WY)
Qxti)
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f,(Y)  =

t

<oG  (I-  j$j& 0 < Y  < 1wlo

0 GA "I
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a2

a3

(n
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